[bookmark: _GoBack]L.O. To be able to solve multiplication problems                                  Red group
Context 2x, 5x and 10x tables                                               
"Cut and stick each question in your book. Remember to show your working underneath.

	1. There are 10 rows of 6 chairs in the hall. How many chairs altogether?



	2. There are 5 pencils ! on each table. How many pencils are there on 3 tables? 


	3. Sonny has 6   2p coins. How much money does he have in total? 


	4. There are 5 stickers in each packet. Ali buys 2 packets. How many stickers has he got in total?


	5.  Lisa has 4  10p coins in her purse. How much money does she have altogether?


	6.  There are 2 sharpeners in each pot. How many sharpeners in 8 pots? 


	7.  There are 10 baskets of apples. If there are 5 apples in each basket. How many apples altogether?





 


L.O. To be able to solve multiplication problems                                  Blue group
Context 2x, 5x and 10x tables                                               
"Cut and stick each question in your book. Remember to show your working.

	1. There are 10 rows of 6 chairs in the hall. How many chairs altogether?



	2. There are 5 pencils ! on each table. How many pencils are there on 7 tables? 


	3. Sonny has 6   2p coins. How much money does he have in total? 


	4. There are 5 stickers in each packet. Ali buys 5 packets. How many stickers has he got in total?


	5.  Lisa has 9 10p coins in her purse. How much money does she have altogether?


	6.  There are 2 sharpeners in each pot. How many sharpeners in 8 pots? 


	7.  There are 10 baskets of apples. If there are 5 apples in each basket, how many apples are there altogether?





 


L.O. To be able to solve multiplication problems                            Green group
Context 2x, 5x and 10x tables                                               
"Cut and stick each question in your book. Remember to show your working.


	1. There are 11 rows of 10 chairs in the hall. How many chairs altogether?



	2. There are 5 pencils ! on each table. How many pencils are there on 9 tables? 


	3. Sonny has 12  2p coins. How much money does he have in total? 


	4. There are 5 stickers in each packet. Ali buys 8 packets. How many stickers has he got in total?


	5.  Lisa has 9 10p coins in her purse. How much money does she have altogether?


	6.  There are 2 sharpeners in each pot. How many sharpeners in 9 pots? 


	7.  There are 12 baskets of apples. If there are 5 apples in each basket, how many apples are there altogether?





 


L.O. To be able to solve multiplication problems                      Yellow Group      
Context 2x, 5x and 10x tables                                               
"Cut and stick each question in your book. Remember to show your working.
	1. There are 11 rows of 10 chairs in the hall. How many chairs altogether?



	2. There are 5 pencils ! on each table. How many pencils are there on 9 tables? 


	3. [bookmark: _Hlk28871494]Sonny has 12  2p coins.  Jim has 6 5p  coins. 
a) How much money does Sonny have in total? 
b) How much money does Jim have in total?
c) Who has the most money?


	4. There are 5 stickers in each packet. Ali buys 8 packets. How many stickers has he got in total?


	5.  Lisa has 6 10p coins in her purse. Joanne has 11 5p coins in her purse. 
a)How much money does Lisa have altogether?
b)How much money does Joanne have altogether?
c)Who has the least?


	6.  There are 2 sharpeners in each pot. How many sharpeners in 9 pots? 



Red Group Answers

	1. There are 10 rows of 6 chairs in the hall. How many chairs altogether?     
                                                                     60 chairs


	2. There are 5 pencils ! on each table. How many pencils are there on 3 tables? 15 pencils


	3. Sonny has 6   2p coins. How much money does he have in total? 
12p 

	4. There are 5 stickers in each packet. Ali buys 2 packets. How many stickers has he got in total? 
10 stickers


	5.  Lisa has 4 10p coins in her purse. How much money does she have altogether?  40p
 

	6.  There are 2 sharpeners in each pot. How many sharpeners in 8 pots? 16 sharpeners


	7.  There are 10 baskets of apples. If there are 5 apples in each basket, how many apples are there altogether? 
50 apples




Blue Group Answers 

	1. There are 10 rows of 6 chairs in the hall. How many chairs altogether?          60 chairs



	2. There are 5 pencils ! on each table. How many pencils are there on 7 tables?        35 pencils



	3. Sonny has 6   2p coins. How much money does he have in total? 12p


	4. There are 5 stickers in each packet. Ali buys 5 packets. How many stickers has he got in total? 
25 stickers 


	5.  Lisa has 9 10p coins in her purse. How much money does she have altogether? 90p


	6.  There are 2 sharpeners in each pot. How many sharpeners in 8 pots? 16 sharpeners


	7.  There are 10 baskets of apples. If there are 5 apples in each basket, how many apples are there altogether?
50 apples





 Green Group Answers   

	1. There are 11 rows of 10 chairs in the hall. How many chairs altogether? 110 chairs   


	2. There are 5 pencils ! on each table. How many pencils are there on 9 tables? 45 pencils


	3. Sonny has 12  2p coins. How much money does he have in total?  24 p


	4. There are 5 stickers in each packet. Ali buys 8 packets. How many stickers has he got in total? 40 stickers


	5.  Lisa has 9 10p coins in her purse. How much money does she have altogether? 90 p


	6.  There are 2 sharpeners in each pot. How many sharpeners in 9 pots? 18 sharpeners



	7.  There are 12 baskets of apples. If there are 5 apples in each basket. How many apples altogether?

60 apples




               Yellow Group Answers      
                                             

	1. There are 11 rows of 10 chairs in the hall. How many chairs altogether?  110 chairs



	2. There are 5 pencils ! on each table. How many pencils are there on 9 tables?  45 pencils


	3. Sonny has 12  2p coins.  Jim has 6 5p  coins. 
a) How much money does Sonny have in total? 24p 
b) How much money does Jim have in total? 30p
c) Who has the most money?  Jim


	4. There are 5 stickers in each packet. Ali buys 8 packets. How many stickers has he got in total? 40 stickers


	5.  Lisa has 6    10p coins in her purse. Joanne has 11 5p coins in her purse. 
a) How much money does Lisa have altogether? 60p
b) How much money does Joanne have altogether?55p
c) Who has the least? Joanne


	6.  There are 2 sharpeners in each pot. How many sharpeners in 9 pots? 18 sharpeners






 


















